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INSTRUCTIONS TO CANDPIDATES
(Use only blue/black batl-poiat pen in the space above and on both sides of the Answer Sheet)
1. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that ne page/question is missing. In case of faulty

Question Booklet bring it to the notice of the Superintendent/Iavigilators immediately to obtain &
fresh Question Booklet,

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
rnthout s enpelope.

3. A separate Answer Sheet is given. ft should not be folded or mutilated. A second Answer Sheet shall
not be provided. Oniy the Answer Sheet wiil be evatuated.

4. Wnite your Roll Number and Seric! Number of the Answer Sheet by pen in the space provided above,

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the S8et Number in appropriate places.

&. No cverwriting is allowed in the entries of Roll No,, Question Booklet No. and Set No. (if any] on
OMR sheet and alao Roll No. and OMR Sheet No. on the Question Beoklet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Each question in this Booklet is fcliowed by four alternative answers. For each guestion, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the corresponding
row of the Answer Sheest, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incerrect.

10. Note that the answer cnce fiiled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Bogklet.

12. Deposit only the OMR Answer Sheet at the end of the Test.

13. You are not permitted to leave the Examination Hall until the end of the Test.

14, If a candidate attempts to use any ferm of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.
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No. of Quostions /vl ) wwar : 180
Time /¥ : 2% Houra/9% Full Marks/quits : 450

Note : (1) Attempt as many questions as you can. Each question carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark wlll be
awarded for each unattempted question.

mmyﬁﬂEEﬁmmﬁlmmaahmtlm
wed I F Y W IF WA Smem| TAE o YW oW Wi =
LU

(2] If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

o T A T W TR Aee v d, @ feem o
&

i. Who, among the following, is the Vice-Chairman of NIT1 Ayog?
(1) Arvind Subramanian (2) Arvind Panagariya

(3) Arun Jaitly 4) Subramaniam Swamy

(326) 1 ' (P.T.0.)
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fefafan o A 919 W (Wostdodoamfo) M F ey €7

(1) g gt (2 sl T

(3) 3T Sreet | (4) guafm @l

Which Five-Year Plan focused on “growth with social justice and equity™?
(1) Ninth Five-Year Plan {2} Eighth Five-Year Plan

(3) Seventh Five-Year Plan {4) Sixth Pive-Year Plan

fost weediy e # “amiRes Aam aar wEm % T e v o e e
(1) It Gl e #  (2) st deeffa A #
mmmmi (4) ot Teadffg g

Which State is the biggest tea producer in the country?

(1) Andhra Pradesh (2) Sikkim

(3] Assam (4) West Bengal

AW FOWR-M T W A G W IeEE X7

(1) smmen . (2) i (3) v (4) afRm sme

Mutual Funds, in India, are regulated by

(1) Asscciation of Mutual Funds of India (AMFI) .

(2} Insurance Regulatory and Devclopment- Authority of India (IRDA)
(3) Securities and Exchange Board of India (SEBJ)

(4) Reserve Bank of India (RBI)
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wia # wwdn fiftel = fraw B 2

(1) Wik ewim PR % TR (ToWHeTHoamEo) TR

(2) v W ffann ol fmm Tie (sowRodtone) ZRT
(3) Wi sy v fafr A (gofowiaamie) T

(4) wrefig ford &% (amodfloawde) T

Which of the following cannot be classified as cash crop?

{1) Coffee {2) Tea {3} Rubber (4} Wheat
ﬁmﬁuﬁaﬁ#ﬁﬁ?ﬂtmﬁsﬁﬁmﬂgﬁ?ﬂﬁmmmt?

(1) HIHI (2) =™ (3) =% (4) "

‘Which of the following commodities earns the maximum foreign exchange for
India? : _ .

(1) Jute {2) Iron and Steel

(3) Tea (4) Sugar

frefofan # & #-3h a W@ & fir sfterw fdeh g W oela w47

(1) 9 (2) e @ W@ (3) A= (4) ¥Ff

The book Cricket My Style is written by
(1) Sachin Tendulkar (2) Sunil Gavaskar
(3) Mohinder Amarnath (4) Kapil Dev

3 | P.T.O)
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e ¥ =ne yEw Rt v &
(1) afm dgEwR T , (2) The TR W
(3) ThfiEt T 2R (@) =Re @ g

8. Which amidst the following sites/monuments is not en the UNEE;CO;E list of
World Cultural Heritages? .

{1} Humayun's Tomb at Delhi (2) Agra Fort
(3) Keoladeo National Park - (4) Tirupati-Thirumala Temples
frefafes vt /et # 3 N G § R Al wied @ g 3 4
(1) R § o = wwwn (2) =Rl # e
(3) ¥etemsa offw R (4) Foreafa-Premmen wf
9. Which of the following must always balance in the foreign trade of the country?
(1) Balance of Trade {2) Balance of Payment
(3) Balance of Current Account  (4) None of the above
i & fdm = § Fafafee ¥ @ Reeer dgee el smaws 47
(1) =R T HEEA (2) WA F Hgera
@) = TR W He @) ST F ¥ W
10. Which of the fellowing States has a literacy 'raté of above 90 per cent?
(1) Goa :  {2) Andhra Pradesh
(3) Uttar Pradesh ;S {(4) Kerala

(326) | 4
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frcaforf & @ e e § @won | 90% ® wiRkm X7
(1) vy (2} AN 3) TMBRW (4) W

National Bank for Agriculturs and Rural Development (NABARD) was
established in the year '

i F o i Rew de () @ e R e gl

(1) 1980 (2) 1981 (3} 1982 (4) 1983

Who was the winner of new Rupee (¢) sjrmbntmnt&at?

(1) 8. Ravi Chandra (2) Vijay Singh

(3) Anil Agnihotri (4) D. Udaya Kumar
A % W wiw R () seifm s B BT a?

(1) We ey (2} R R

(3) siFm s (4) Fe ITTHAR

The best indicator of economic development of any country is

(1) its agriculture - (2) its transport

(3) it gross production (4) its per capita income

it ¥ & ol feem w1 i TRE 8, W

(1) BN (2) whEH (3) e TR (4) S =i e

5 — PTO)
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14.

18.

16.

17.

(328)

Who was the father of Operation Plood? - -

(1) Dr. Norman Borlaug (2) Dr. M. 8, Swaminathan

(3) Dr. Verghese Kurien _ {4) Dr. William Gande

A TE . W A7 | ' -

(1) To AT Wrewiln (2) ¥e o THe TR

@) Wo wite yhw @) To At Ay

The headquarters of World Trade Organisation is in

(1) Montreal - (2) Geneva (3) New Jersey (4) Seattle '
forer =mm WveR W e R & | "

) wiRwm & (2) B # (3) = el # (4) ferzm &
Who took over as the new President of Sri Lanka on 9th January, 2015 ?
(1) Mahinda Rajapakse (2) Maithripala Sirisena

{3} Chandrike Kumartunga {4} Junius Richard Jayewardene
o W, 1915 W ey oW % T UPIR! W1 vaNR TET Ren?

(1) Wit T 3 (2) foforer fifeden 3

(3) wfZ Fwgm A (4) gfrm frad sl 3

Who became the first Hindu to be appointed as the Chief Justice of Bangladesh
in January, 2015 ? :

(1} Justice S. K. Sinha (2} Justice 8.P. Parikkar
(3) Justice K. M. Sarkar (4) Justice K. N. Mehrotra
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e, 2015 &, Teeh wr few g @ Pgfs, Tmendw & gev =wnim ¥ W d |
W | |
(1) e T@e %o -Rem (2} ~fE w@e he TR #

(3) =rfd o Wo wWER B (4) R ¥o wo Awrn A
‘Make In India’ (MIN) campaign was launched on_

(1) 15th August, 2014 | (2). 25¢h Beptember, 2014
(3) 2nd October, 2014 | (4) 26th January, 2015
e W A (TodHoEe) iAW smh fasr mn?

(I} 15 2F1e8, 2014 B | (2) 25 R, 2014 W

(3) Qm o4 W @) 26 al, 2015 B

The official mascot of 20th Commonwealth Games was Clyde. What does this
mascot represent?

(1) Animal (2) Birﬂl (3} Mountain (4) River
204 TEER el W oniwEie R s o aw g fewn sifer o
L -
(1) IR & (2) Tufym = (3) e = 4) ¥ =
Which of the following is a peninsular river of India?
(1) Kosi (2) Gandak (3} Krishna (4] Sutlj
Pt % 3 ¥, W Bl @ 42
(1) Wt (2) T (3) Fom (4) R
7 . - P.+0))
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21. Which country topped the medals tally. in the 20th Commonweslth Games?

(#24)

(1) Australia - (2) England (3) Canada’ (4] - Scotland
204 Tyvogw Al ¥, Tzel & e o Ao A owetR e
(1) wrefrm 2) yréeg (3} . (4) =

Which of the following is the largest conmbutnr to the total tax revenue ut‘ the
Government of India?

(1} Income tax {2) _.C_-uatoma duty_
(3) Union excise duty (4) Wealth tax |
TRy woeR ¥ fw P § @ fseh oo wite W oo g o 47

(1) ¥R (2) ¥ Yo (3) %5 gt W (4) TN W

How many countries took part in 17th Asian Gamea—Inchon, 2014 ?
17% ofirné -y, 2014 & PR X 3 v Rwn?
(1) 36 (2) 45 (3) 48 4) 50

Which country would host the 18th Asian Games of 2018 ?

(1} Indonesia  (2) Vietnam (3) China (4) Malaysia
2018 % 184 vhirmf I A dvweh ¥ 2w wmr .
(1) Yirfimn (2) P 3 (4) TErf
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‘When was India’s first CNG based train flagged off by the Union Railway
Minister Suresh Prabhu?

{1) 15th August, 2014 (2) 15th October, 2014

(3) 1Sth January, 2015 | (4) 15th March, 2015

torrh gto wq A Pewole o e § Tw v e @ fen?

{1 15 R, 2014 # (2} 15 W, 2014 W

(3) 15 W, 2015 ® | (4) 15 7, 2015 ®

The primary purpose of operating system is

(1) to make the most efficient use of the computer hardware
{2) to allow people to use the computer

(3) to keep system programmers employed

(4) to make computers easier to use

St fren w yum 3w o d

(1) ¥ wHAm W gAERa I

(2) Svli % e R WO ST

(3) fireen sl @ wm # WA @

(4) X T W T T

The system unit of a personal computer typically contains all of the following,
except

(1) microprocessor (2) disk controller
(3) serial interface | (4) modem

9 (P.TO.)
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mmmﬁMﬁi,mw#m-m.mﬂmt

(1]#@1\“% - (2} faow wien ®
(3) Nfm rw % | (4) Wriw %

A computer program that converts an entire program into machine langlmgc in
called afan

{1) Interpreter (2) Simulator ©  (3) Compiler (4) Commander.

mm@mﬁﬂﬂmmﬁmlﬁwimﬁummt,-ﬂm
L _ -

{1) WO (2) Rpé= (3) RN (4) W

Who among the following is not a recipient of ‘Dad_ﬁ Saheb Phalke’ award?
(1) Raj Kapoor (2) Ashok Kumar

(3} V. Shantaram | (4] Ramanand Sagar
mﬁﬂmmmm\rwmmmn

(1} T ¥R (2) 3% g (3) Do VW () TR W

Who was the Chairman of the 14th Finance Cnmmiﬁainn?
(1) Y. V. Reddy  [2) Vijay Kelkar
(3) Prof. Abhijeet Sen (4) C. Rangarajan

10



(326)

15P/283/16

14% fn s & wam W €7 |
(1) ufo WMo (2) forem Fom
{3) WMo nﬁuﬂa ¥ (4 e TTRR

If the Cash Reserve Ratio is lowered by the RBI, its impact on credit creation will -

be to
(1} increase it (2) decrease it
(3) no impact . (4) None of the above

aﬁWMhmmmmmnﬂmm,ﬁmmﬁﬂwm
W A WM

(1) T8¢ WF oM | (2aa!m€tm
(3) w§ yam o wdm (4) 3906 3§ @ wrf Tl

Name of the Indian woman participant in Miss World, 2014 competition was

(1) Vanya Mishra | (2) Priyanka Chopra
(3 Koyal Rana ' (4) Navneet Kaur Dhillon
fra ad, 2014w § ww 8 ek Wl wen W oSW @
(1) aw=n B | (@) Briw wem
(3 SmTn. (@) i R fagt
11 P.T.0
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Which among the fo]lowing countries has won the 2014 Uber Cup Tournament?

(1) China (2) Pakistan (3) Japan (4) India
i #eit # @ #2014 3k w1 Tk w fdw wm? .
(1) ¥ (2) i (3) A (4) v

Which is the highest gallantry award in India? o
(1) Param Vishisht Seva Medal (2) Param Vir Chakra

(3) Kirti Chakra {#) Vir Chakra
mﬁﬂwﬂmmm_t?

(1) v fafie @ Age [zj'mﬂkaﬁ
(3) HFf ww | (4) W

National Pelice Academy is located at

(1) Bangaluru  (2) Hyderabad  (3) Abu Road  (4) Dehradun
T g sl R | | |

(1) Fms & (2) ¥zom 3§ (3) wm A (4) Fwwgm

Which of the following crops needs maximum water per hectare?
(1) Maize (2) Barley (3) Wheat {4) Sugarcane
ﬂmmﬁi%ﬁs&ﬂiﬂmmamﬁmmt?

1) W (@ (3) - (4) ™

12
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The highest civilian award of India ‘ Bharat Ratna’ has been awarded to only two
foreigners so far. One of them is Nelson Mandela. The other is

(1} Abdul Gaffar Khan (2) Mikhail Gorbachev
(3) Marshal Tito (4) Abdul Wali Khan

o W Wit dRE TEeeR WA W et W w3 Rl W R )
3ol & w ¥ v udem g Ree &

(1) SRTE TERR W  (2) Trems Meiwa

(3) wiw &2 (4) ¥gm aeht ww

Micro credit or micro finance ia a novel approach to bank with the poor. In this
approach bank credit is extended to the poor through

(1) Self-Help Groups (2) Anganwadees

(3} Cooperative Credit Socictics (4) Reserve Bank of India

W TR I g R el & v e A W@ W osEran 3o b oW
orm § whwt W e wTE vom e s §

(1), ¥ weam SR g (2) tranfyat

(3) vt wrr wRfv o . (4) vy food ¥ oo
Deficiency of vitamin A ;-emlta' in

(1) night blindness - : (2) rickets

(3) scurvy - (4) hair fall

13 : - (P.T.O)
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(336)

R A B wh = R R |
(1) T w2 GEO () @ W 4) T W

Which one of the following is not an example of the operating system?

(1) Microsoft Office XP (2) Windows 98

{(3) Red Hat Linux (4 BSD Unix
Prafafn § & ¥ i fieen w1 e T 47

(1) weeale e waofte (2) Ry o8

(3) T ¥z P . {4) Howmedts Tfvw

Which one of the following is the apex of the three-tier aﬁaperaﬁwé structure in
India? ' ' ' :

(3} District Central Cooperative Bank

(2) Union Cooperative Bank

(3) District Cooperative Bank

(4) smmcmpmmm;:

Wi ¥ ferta wwwton ot A fefien § 2 W M w87
(1) Fen ¥ wwwrdt ¥ (2) qF wwwrd ¥

(3) Fen wwerlt #w ‘ {4) Ty wwet #=

14
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Which Planet rotates on its axis from East to West?

(1} Earth (2) Jupiter (3) Venus {4) Mercury
#-a 7w AR g w gd | ufem B SR open 87

(1 =t (2) e (3) g (4) 99
Garampani Sanctuary is located at

(1) Junagarh, Gujarat (2) Golaghat, Assam

(3) Kohima, Negaland . (4) Gangtok, Sikkim

o avren fRm f |

(1) YFFTg, TN X qz}m,mﬁ'

(3) wifien, v & (4) e, Ff &

'fhe River Thames is located in

(1) England (2) Scotland (3) Ireland (4) Finland
o fem b | - |
(1) ¥réree § 2) Wi § (3 wwdwd (4 e b

Who is known as Iron Man of India?
(1) Govind Ballabh Pant {2) Jawaharlal Nehru
(3) Subhash Chandra Bose (4) Sardar Vallabhbhai Patel

15 {P.T.0.)
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v % die e % A o w47
(1) i agy = = (2} FEATRTAET AT T

(3) QU™ W wrm W (4) WER g m W

47,

(326)

In the last one decade, which one, among the following sectors has attracted
highest foreign investment inflows into India?

(1) Chemicals other than fertilizers
(2) Services sector

(3) Food processing

(4) Telecommunication

o ©F 7= A, hhiﬁiﬁﬁmﬂmﬁmfhﬂtﬂﬁﬁhmﬁﬁ
smrila e &7

(1) WA, JAH ' BIEW (2) ﬂm&a

(3) w.wﬁm (4) T WUR

The famous Dilwara Temples are located in

(1) Uttar Pradesh (2) Rajasthan

(3) Maharashtra . (4) Madhya Pradesh

g Ream afe fom &

HImwmd () PRRE (3 oy A (4) weawdw i
16
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48. The members of Rajya Sabha are elected by the
(1) people
(2) Lok Sabha
(3) elected members of the Legislative Assembly
(4) elected members of the Le'ﬂi_slativc Council
T o % e g W
(1} ¥ TR (2) v ZR
(3) faum wn ¥ g3 wwE go (@) P i % ¥ wedt g

49. Debenture holders of ‘a company are its

(1) Shareholders {2) Creditors (3) Debtors {4) Owners
el ¥ momy o B §

(1) el (2) AR (3) TR . (4)

80. Which one of the fullowing countries is not a member of SAARC ?

(1} Nepal ~ {2) Bangladesh (3) Afghanistan (4) Myanmar
Prafafas 2wt & & o ok W wgm Al 27
(1) I9me {2) ey (3) WSTREH  (4) WER

(0a8) 3 17 | (P10}
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81.

‘World Development Report' is-an anhual publication of

‘(1) United Nations Development Programme

{2) international Bank of Reconstruction and Development
{3) World Trade Organigation

(4) International Monetary Fund |

vk etz feitd! e e s 47

{1} TMRE = e T

(2) et dw st dwe (8 e

(3) =k ?x WhmRTE
- (4) ETTR Tl oy
Which of the following is » progressive tax?
(1) ham tax (2) Entertainment tax
(3) Customs duty ~ (4) Sales tax
Feaffem § @ W9 o5 wiRvier w47 |
(1) e (2) FR W (3) ¥ yem - (4) T W
Whahthuﬂntlndinnwm_antawhmhaiah{}amaguldin4GOmrun?
(1) M. L. Valumma‘ _ {2} P. T. Usha |
(3) Kamaljit Sandhu (4) K. Malleshwari
18 -
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mmﬁmmmﬁgﬁmﬂnﬁwwﬁmmmm'
M

(1) We o TEWEHI (2) m_aa I
(3] wrerdiy WYy (4) ¥o W

‘Dronackays Award’ is given to

(1) Sportamen "~ (2) Coachea

(3) Umpires _ (4) Sporta Editors

‘Frower g f&mmt

() foenfid w2 v W (3) TR W (4) dW TR W

. Entomology is the science that nmdie.ﬂ

(1) behaviour of human beings

(2) insects | _
(3) the origin and history of technical and scientific terms
(4) the formation of rocks

weriata a Ram & A s won §

(1} WP SRt W

(2) ® w
mm«mmmtmmmm

(4) wgwt € = W

19 o | (P.T.0.)
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87.

{336

‘Vijay Stambha’ is situated in .
(1) Jaipur (2) Agra " (3) Delhi {4 Chittor

‘fawg o’ foom & |

(1) wage # (2) wrm # (3) Pgh & @) fady 3

Where is the headquarters of Oil and Natural Gas Commission?

(1) Dehradun (2) Vadodara (3) Digboi (4) Mumbai

I " wHhw fa amm @ geem et ﬁhr ke |

(1) W (2) T (3) famirg ) gk

The ‘Golconda Fort' is in which State?

(1) Telengana (2) Uttar Pradesh

(3} Bihar (4) Karnataka

‘e feen’ fra Tem & R 47

(1) et & (2) W wqw #  (3) fgw & (4) wAtew A

Which is the outermost planet in the solar system?

(1} Mercury (2) Plato (3) Neptune (4 Uranus

dRoEE F1 W TR W A7 )

(1) 8 (2) =@ (3) oA (W) (4) W
20
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1DP 2483/ 10

The name of world's first light weight gun for women deaigned by lnd.ian.
Ordnance Factory is

(1} Nirbheek (2) Shravya (3) Jhansi {4) Kalpana

iR v FER o AfieRe aiensd & RRL fim R T vk 3w @
EWImE

(1) fefls (2} w=n (3) Wit (4) S

Find the least number of scldiers in a regiment, such that they stand in rows of
18, 15 and 25 and form a perfect square

™ Weiz # APl € =Tw wem yw W, W 18, 15 W 25 € O § w5
W T W W AR A wk

(1) 900 ‘(2) 1600 (3) 2500 (4) 450

Thmmingsafammicalimtmmcntﬁhtcﬁ,amdlzﬁmuaucmd

time interval before all three vibrate together again

fmlt a0 % it aw v A w6, 8 W@ 12 R YOm0 & IR W A
mwwﬂﬂmﬁm'mﬂ.ﬂmmwmtmmmm_
| Wm? -

1 1
(1) 28ec  (2) 48 sec @) 5 sec [4) 5o sec

_respectively. If all the three begin to vibrate simultansously, find the shortest

Which is the smallest number that can be subtracted from 1936 so that on
being divided by 9, 10, 15 the remainder is 7 every time?

1936 4 w2 A Al Ay =EEm wen - R, AR 9, 10, 15 T RwiRw fse
T MR 7 INRY :

(1) 93 (2) 46 (3) 76 (4) 39

21 _ P.T.0.}
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&4,

&7.

(338

The smallest number from whicﬁ-ﬁmﬂuuihmatcd;is exactly divisible by 7; 11
and 13, is S -

4ouoir:raiaﬁml\uuﬂammmt ﬁé’r 11 @ 13i@fmﬁmﬁa
fer m w67 |

(1) 5001 (2) 2999 (@3 1000  (4) 6303

Find the least number which when divided by 20, 25, 30, 36 and 48 leaves the
remainders 15, 20, 25, 31 and 43 respectively

we apem wen ym W, Rl 20, 35, 30,mm4s#m1iqwﬁq(m
1S, 20, 25, 31 W 43 W -

(1) 2165 (@) 144 (@) 3595 (4] 3600

A drum of water is § full. When 38 litrés are drawn from it, it is just § full. The .
hnl!'capamtarofdruminlitre-h' '

mwwaiw‘mtlnmﬁi uﬂﬂtwﬁiﬁmﬁmmt #t e
m*mgmﬂmtlwﬁmmm'aimﬁ |

(1) 40 (2) 80 3) 152 | 4 217

Mmunthly.ﬂaryﬂfnmnuﬂnﬂmmhcmdn{nﬂt His income
wwtdmmmtmmmmmmmwio{m
prasent expenditure.. His savings will now

(1) increase by Rs 45 {2) dtcreaubyﬂntm '
(3) increase by Rs 40 ' (4) decrease by R 80
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e oW I vm e W 3w A Swh AW
t o s wd ) THOR =@ @ 2 WG RN B R TR

W AR R L g

Ty w7

(1) 45 %o wg wrgh | (2) 40 %o Uz IMEH
(3) 40 %o WG W " (4) 80 %o we W

whkhnfme_mtmudngﬁncﬁnn-ismem
fraffirn | & Fha-d B we@ oA 7

7 14 11 . 8
[1.] 13 (23 — @ — | 4) —

A!nmppn-athaahn.lfnl‘itllangthinmud,*ofitslengrhlnwatcrmdaim
above the water, 'Thcmtalhns&lufthcpmtin _

w dm i anht wand w feg F 8 §mﬂmwﬁim3lmwﬂ%
W 8§ & g B FE Ty W

(1) 44 m (2} 104 m (3} 164 m (4) 20 m

Amanpayaof[%ofhindebtﬁndaﬁl] has to pay Rs 240 to pay off the debt
completely. The total amount of debt is
{1) Rs 600 {2) Rs 400 (3) Rs 960 (4) Rs 480

wﬂ@mmgmmﬂm!mmmmﬁw g
mﬁthzm:oﬂmmhmmtlﬁmﬂmnﬁlmﬂ

(1) 600 % () 400 ¥ (3) 960-%  {4) 4BO %o

23 | (P.T.0.)
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74.

(338)

Three persons begin to walk around a circular track. They complete their
revolution in 91/6 sec, 65/4 aec and 56/3 sec reapectively. After what time will
they be together at the starting point again?

wmwmauﬂsmmmmmm 91/6 sec, 65/4 sec
mswa;«:inﬂnmmﬂm&h%hﬁmmmﬁ%mwm

e ?

(1) 910/3 sec (2} 364 sec  (3) 3604 sec (4) 3640 sec

25% of a certain number is 15 leas man 30% of the same number What is the
number?

fisedt dwm W 25% 396 30% @ lsﬂt}nmwh
(1) 600 (2) 300 {3) 750 (4) 135

'I'l'wlungt.hofﬂmelnngeatpole'ﬂmteanbeputintoaroom'[%m ®12m=x 8 m)

R wk v f o, Al R W 25 m x 12 m x 8 m) § Tan W wEm
t, = woht?

(1) 25 m {2) 288 m (3) 277 m 4) 30 m

The edge of a cube is increased by 100%, the surface area of the cube will
increase by

o ft W & W 100% B g @ W, A 39k g8 dvwe # Ay oo
(1) 300% (2} 400% (3) 200% (4) 100%

- 24
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The length of & rectangle is increased by 20% and its breadth is decreased by

20%. The area of rectangle
(1) remainathcaamc _ (2) is increased by 4%

{3) is decreased by 4% (4} is increased by 5% |
o Rl s ft warf § 20% B AP B wm aw R Ned F 20% B wh
W 0 I, @ uE va f gieds W

(1) ¥5 ff (2) 4% # g [3}4%!&!541 (4} 5% #t iy

A man travels a certain distance at the rate of 12 km/h and returns back to the
starting point at the rate of 15 km/h. The average speed during the whole
journey is

w =i v P g 12 km/bh B WA T w R T 15 km/h B T D
R g W e 41 9 o sh e T e - .

(1) 135 km/h  (2) 40/3 km/h (3) 38/3 km/h  (4) 14 km/h

A mixture contains alcohol and water in the ratio of 4: 3. If 7 litres of water is
added to the mixture, then ratio of alcohol and water becomes 3 : 4. The quantity
of the alcohol in mixture is

fft fom F sedtem ol ot W s 43 81 IR Bw B 7 Gitres T 3R
foen R am, @ seEm At T W g 304 W WA Rew § aETE 6
wrn #

(1) 12 litres (2) 10 litres (3) 32 titres (4} 20 litres

The diameter of a cone is 14 cm and its height is 9 cm. The area of its curved
surface is '

U6 TF WA 14 cm awr I 9 om ¥ S0H TH-98 W Hvew ¥
(1} 198 cm? (2) 212 em? (3) 222 cm? (4) 250 cm?

25 - (RT.0.)
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One year ago the ratio of Varun and Veena's age was 4 :5 year. One year hence
thcratiooftheirageawiﬂbes:ﬁ.meprmntagnaf\femais

{1) O years (2) 10 years (3) 11 years {4) 12 years

wﬁ{émmm&mwmmsmmmﬂmzﬁmm
squw 5:6 B wAM) 0 A R g A

(1) o =l (2) 10 =4 (3) 11 @2 of

A shopkeeper marks his goods 20% higher than the cost price and allows a
discount of 5%. The percent. of the profit is i

WmﬂﬂmﬁMwmﬂzﬁmtlnaﬁﬁmmmm
® gz ¥ A 3w sfm ook : |

(1) 14% (2) 10% (3) 15% | {4) 20%

A dealer offered a machine for sale for Rs 27,500 but even he had charged 10%
less he would have made a profit of 10%. The actual cost of the machine is

(1) Rs 22,500 {2} Rs 24,250 (3) Ra 22,275 {4) Rs 22,000
o = AN 99 27,500 fo W AWA W warw wemt 4 Al wAw AW 10% WW W

'ﬂm,ﬂmﬁlmwmﬁmlﬁammt

(1) 22,500 Fo () 24,250 ¥ (3) 22,275 ¥ (4) 22,000 ¥

A trader allows a trade discount of 20% and cash discount of 25/4% on the

marked price of the goods and gets net gain of 20% on the cost. By how much
above the cost should be marked for sale? -

% A AT WA % sfEr TR W 20% WWR g2 AN 25/4% TG g2 T
20% Y2 o WM % 8 g ¥ sife g e wiem i 0

(1) 40% {2) 50% (3) 70% (4) 60%

- 26
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Ifa:b=b:c then a’:b* =
q a:b=b:c, M a*:b* =
(1) a®:¢? @) &*:a? (3) ac:b? (4) b?:ac

If (x+y):(x-y)=4:1, then (x* + y¥):(x? - y7)is

W 2y (x-g) =4l W (P 4y -p) Y

{1) 25:9 . (2) 16:1 (3) 8:17 (4) 17:8

The sum of three numbers is 174. The ratio of second number to third i8 9:16
and the ratic of first number to third one 1:4. The second number is

W demdt = A 174 41 it Tw g W g 9:16 ¥ T wm i gl
W AW 1:4. fifg v &

(1) 24 (2) 54 (3) 96 (¥ 56

A and B have income in the. ratio 5:3. The expenses bf A, B and C are in the
ratio 8:5:2. If C expend Rs 2,000 and B saves Rs 700, then A's saving is
(1} Rs 1,500 {2) Rs 1,000 (3) Rs 2,500 (4). Re 700

AT B ® ¥R oW AT S:3 kW AB @ C ¥ =t oW o 8:5:2 X
Mcecwmem200FctsMBRNTM70 t, M ARt

(1) 1,500 %o () 1,000 %o (3) 2,500 o (4] 700 ¥o

A train passes over a bridge of length 200 m in 40 sec. If the speed of the train is
81 km/h, its length is

ma?ﬁmﬂzmmaﬁgaﬁmmﬂmmﬁtwﬁiﬂﬁmﬁlalkmjh
", ﬁr:mﬁlmﬁt

(1) 1800 m (2) 900 m (3 700m  (4) 600 m

27 (P.T.Q.}
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91.

(334)

Two cylindrical buckets have their diameter in the ratio 3:1 and their heights
are as 1:3. Their volumes are in the ratio of

ﬂﬂmnﬁﬂtwﬁmmanmmﬁhﬂmmuamm
Rl W I #

(1) 3:1 (2) 3:4 3) 2:1 4 2:3

Thcavemgcagent'fnurmﬁhendafamﬂyu 20 years. If the age of the
grandfather be included, Lb.etwummawdbyg}'ears What {s the age of
the grandfather?

(1) 72 years (2] 65 years {3) 52 years (4) 48 years

fiht ofemt & 4 weelt W sl @y 20 = X T B F oElm w3 w P
s Ao wl W gz @ wwt di T R ooy d

(1) 72 = (2) 65 =k (3 52 (4) 48 =

Runbought‘l?ﬁ'kgnfnwatthnmteﬂfms'aopcrkgandmi;uditinﬂm
130 kg sugar purchased at the rate Re 5:-30 per kg. He sold the mixture with a
profit of Rs 161. The rate of the mixture per kg was

(1) Rs 612 {2) Rs 582 (3) Re 568  (4) Re 512

rm170::;%5-30&ﬂu'imtmﬁsmuﬁaiﬁmg{

iaokg#lmiﬁmﬂimtlﬁmﬁ161hmqtiaimt|ﬁm-ﬁr
g = #

(1) 612 %o (2) 582 %o (3) 568 %o (4) 512 %o

In a fort, there were provisions for 45 days for 150 men. After 10 days, 25 men
lcftwchhefoodwuuldnowlasthngfor :

(1) 36 days (2} 40 days  (3) 42days  (4) 50 days

‘28
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s figd i 1muﬂﬁf%ﬁu45ﬁaﬁuﬁum!| 10 7 W= 25 =i e
wrg = v i §1 s ' ann) R fm Swf e

(1) 36 PR (2) 40 fm (3) 42 R (4) 50 B

93, If 28 men working 8 hours per day can finish a piece of work in 10 days. How
many houra per day 40 men must work to complete the same work in 8 days?

et wm Wy 28 Mol 8 W2 Wi wm owek 10 W d wuw wd #) 40 sl
i 2 R T o 5 g wm 8 R F om W A7

{1) 6 hours (2) 13/2 hours (3) 7 hours (4} 15/2 hours

3. A boat covers 24 km upstream and 36 km downstream in 6 hours while it
‘covers 36 km upstream and 24]qndownstn:amm 13f2hnura The velocity of
the current ia

mmmmﬁu#ﬁqw.aﬁhm*ﬁ&!ﬂﬁ5ﬂiﬂmmz|a€|
9@ 36 km WO & BRg TN 24 ke W0 A Rm H 1372 W2 F @ w4 W
v i}

(1) 2 km/h (@ 25km/h (3 1km/h  (4) 15 km/h

Directions : (Question No. !4—“] Find thﬂ wrong number in the following
sequences.

i . {mmm)ﬁnﬁhiﬂnmmﬁﬁqﬁmmmqm

94. 2,0, 28, 65, 126, 216, 344
(1} 2 (2) 28 (3) 65 @) 216

98. 125, 106, 89, 76, 66, 58, 53
(1) 125 (2) 89 (3) 76 (4) 66

(326) 29 | (P.T.0.)
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96. 190, 166, 145, 128, 112, 100, 91
(1) 100 2) 128 3) 145 (4) 166

Directions : (Question No. 97-102) Shown below is the multiple bar diagram
depicting the changes in the students strength of a college in four
" faculties from 2010-11 t0 2012-13:  °
fdwm (v ww 97-102) Pl o fm 3 2010-11 § 2012-13 e, ek
wER & =W EwE % Al O e § 0 e s W oo 8

650
600
B50
500
450
400
350
300
2350
200

150
100
50
0

2011-2012 2012-2013

2010-201

-

97. Percent of student in Science faculty in 2010-11 was
2010-11 4 Ry dom & oEl W s o

(1) 26:9% (2) 27:8% (3) 29-6% (4) 30-2%

(326} ' a0
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Percent of student in Law faculty in 2012-13 was
2012-13 ¥ fAft gy & oEl W YRwe O
(1) 185% - (2) 156% (3} 167% 4) 14-8%

How many times was the total strength of the strength of Commerce students in
2011-12 7 ' :

(1} 3 times (2) 4 times {3) 5 times {4) 6 times
o ol e, T Fen & ol % Rl TR a?

(1 3 T (2 4 T @sFh @ eTh
During which year the strength of Arts faculty was minimum?

(1) 2010-11 | (2} 2011-12

(3) 2012-13 ' (4) None of the above years
firm af W wwa % el ) dow <pw A7

(1) 2010-11 | ©{2) 2011-12

(3) 2012-13 (4) vt e o

How much percent was the increase in Science students in 2012-13 over
2010-117

fwm W@ % oEf 4, 2012-13 #, 2010-11 ¥ wny fem wRew f gl o
di?

(1) 50% (2) 150% (3) 200/3% @) 75%

31 o (P.1.0)
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103. A regular decrease in students strength was in the faculty of
{3} Commerce

(1) Arts (2) Science

few d®rm & ol # wmm v gon X7

(1) %en (2) frw

{3) ;v

{4) Law.

(%) faftr

Directions : (Question No. 103~108) The following Table gives the population of a

town from 2010 to 2014.

Frdw - (v o 103-108) i wiftee & ARl e € swiem 2010 ¥ 2014
™ R @
Year Men Women | Children Total Increase (+) or
decrease (-} over
preceding year
2010 65104 | 60387 - 146947 —
2011 70391 62516 -— — + (11630)
2012 o 63142 20314 | 153922 —
2013 69395 — 21860 — - (5337)
2014 71274 — 23789 | 160998 -
103. Number of children in 2010 is
2010 # ¥=1 # e 2
(1) 31236 2) 125491 (3) 14546 (4) 21456
104. The total population of 2011 is
2011 § For e
(1) 144537 (2) 158577

(326)

(3) 146847

(4) 149367
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The number of children in 2011 is
2011 ¥ wedi 6 won
(1) 25670 {2) 14040 (3) 13970 {4) 15702

Directions : (Question No. 106-118) Read the following passage carefully and

(326}

answer the questions that foillow it by choosing the most appropriate
option from the four alternatives.

- Frustration is a global cancer. It has spared no country. In some countrics,
frustration exists because these countries are populated by ‘ have nots’. In other
countries which are populated by ‘haves’, frustration is among them also
because they do 'have’. Aa far as India is concerned its education system is
breeding more and more frustration among both students and teachers. And yet
no one seems too. clear about what can be done to make it more meaningful.

. Hnnyr:ﬂormshﬁwhwndilmuedatleuzthbuthmcnme to nothing for one

reason or another, The authorities are now peddling the idea of autonomous
colieges as & means of toning up teaching standards. They argue that by
allowing certain colleges to introduce their own courses, hold seminars and
above all, to evolve their own method of asscssing stidents, students will get a
far better deal. Indeed, they make out that such colleges will have free hand in
nearly everything except granting degrees. In theory, all this sounds attractive
enough. But there is little to show that the managements concerned are keen on
such reforms. Even today, nothing prevents a college from inviting guest
speakers on specialised subjects or holding courses in English for vemacular
students. But not a single one of those who are now clamouring for autonomy
has bothered to do so. It is no secret that colleges which may be “freed’ to an
extent from university control are highly elitist : In Mumbai, for example, there
is big cultural gulf between city college and suburban colleges. If some of the
former are now given a degree of autonomy, it will onlty heighten this disparity.
The answer to the vexed problem of declining standards in higher education
does not lie in cncmlragi.ng the growth of ‘ model’ institutions, but in improving
overall standards. This is of course easier said than done, since more and more
young people are secking degrees. The only solution, however unpalatable it

a3 (P.T.0)
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majrsmmd is drastically to reduccthenumberofthauwhnarcadnuttedto
colleges. Even though there is political pressure on many State Governmenta
to built new colleges to give more admissions, it will be sheer folly to expand
such facilities recklesaly without giving any thought to the quality of education
imparted, If admissions are made far more selective, it will automatically
reduce the number of entrants. This should apply particularly to new colleges,
many of which are little more than degféd factories. Only then can the
authoritics hope to bring down the teacher-student ratio to manageable
proportions. What is more, teachers should be given refresher courses to
brush up their knowledge. Besides, if college managements increase the
library budget, it will help both stafl and students a great deal.

However, at the same time, it will be unfair to deny college education to
thousands of young men and women unless employers stop insisting on degrees
even for clerical jobs, For a start, why can't the Government disqualify
graduates from securing certain jobs—eay, Class Ml and IV posts. Once the
degrees are delinked from jobs, at least in some important departments, it will
make many young péople think twice before joining college.

108. The author's chh-.f concerns seem to be

107.

(326)

(1) frustration among students
(2) spread of college education
(3) standard of education

(4) del.ink:ing of degrees

What according to the passage, wuuldherethngmnungautonomymmme
colleges?

(1) The tmchcr—studcnt ratio will come down

(2) Disparity between city and auburban colleges will increase

(3) Colleges will multiply

(4) Some colleges would start selling degrees

34
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The author’s attitude is

(1) cynical  (2) optimistic  (3) critical (4) constructive
Which of the following is the most significant feature of tﬁc scheme of
autonomous colleges, according to the passage? '

(1) They can introduce new courscs

(2) They can evolve their method of assessment

(3) They can award degréeu

(4] The can make admissions without Testrictions

" 110. To which of the following does the author give precedence?

(1) Increasing library facilition

(2) Stopping opening of new colleges
(3} [nstituting entrance__ examinations
(4) Holding refresher coursss for teachers

111. The author does not believe that

{328)

(1) colleges have the capacity to develop courses
(2) colleges have the expertisc for assessment
(3) some cnl]eg&u are only degree factories

(4} some colleges are ‘clitist’

35 | (P.T.0)
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112." Which of the following is the main difficulty, mcormngtnthepaaaage in the
way of improving standards?

{1} Paucity of library facilities
{2) Paucity of funds
{3) Ever increasing number of young men wanting degrees
{4) Grant of autonomy to colleges
113. Haw.can the number of students taking collégc education be reduced?
(1) By making selective admissions . |
(2) By reducing the number of colleges
(3) By discouraging the founding of model institutions
(4) By removing some of the students already admitted

114, Why more and more young men go in for college education?

(1) Because more and more colleges are opened

(2) Because employers insiat on degrees even for clerical jobs
{3) Because many colleges help them get degrees casily

(4) Because more and more facilities are made available

116. Where hau the author slipped while making suggestiona?

(1} The teacher-student ratio be brought down
(2) Improvement should not be restricted to select inatitutions
(3) Political pressure should be withstood '
(4) Nene of these _
(326) . 36
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Divections : (Question No. 116~120) Chocse the word which is montnearlythc same
mnwanmgasthewordmnmﬂahc

- 116." Propagation
(1) Realisation (2) Dissemination
(3) Formulation ' (4) Assimilation
" 117. Cailigraphy
{1) Handwriting (2) Printing (3) Scanning (4} Fax-
118. Redundant

(1) Unimportant (2) Not needed (3} Bombastic (4] Flowery

119, Boulevard
(1) Highway (2) Avenue (3) Alley © {4) Driveway

120. Immaculate
{1) .Spotless (2) Caloured (3) Gorgeous (4) Simple

Directions : {Qucsuon No. 131-128) Select ﬂ'om the four a]ternatives l;he antonym of

the word given in italic.
131, Pemnicious
(1) Innocuous {2) Healthy (3) Hygienic (4) Fine

(328) | 37 ~ {PT.D)
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128. Levily | _ | |
{1} Seriousness (2) Solemnity (3) Religiosity (4) Gravity

(1} Priendship  (2) Agroement (3} Amity {4) Cooperation
124. Wivacious
(1) Languid (2) Open {3) Strong (4} Bright

128. Anonymous _ , . _
{1) Desperate {2) Known (3) Expert (4) Written

Directioms : (Question No. 136-130) Choose the correct meaning of the idiom
underlined in the sentence.

126. Asthe Eummer vacation approaches, the number of tourists increascs by leaps
(1) come together (2) very rapidly
(3) slowly | (4) consistently

137, _-l-lr. is out and out a liar,
(1) surely (3 consistently (3) thoroughly (4] basically
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128. _Sheiaaclwerj:‘rlandshecanputgo_&-twu&dwr.
(1) make a formal statement (2) look very thoughtful
{3) count very well (4) draw a logical conclusion

129. She is accused of sitting on the fence.
(1) observing the scene . {2) confused
(3) hesitating which side to take  {4) resting on the fence

130. We kept our fingers crossed till the ﬁnal results were declared.
(1) waited expeditiously = (2) kept praying
(3) felt sacred (4) kept hopeful

Directions : (Question No. 181-138) Choose from the four alternatives the correct
substitute for the following expression given in italics.

181. A place for sick peaple who need long periods of treatment or rest
(1) Clinic (2) Hospital (3) Sanatorium (4) Asylum

(1) Herbivorous  {2) Omnivorous
(3) Carnivorous | (4} Vegetarian

(326) 39 | (P.7.0.)
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133. Concluding pert of a literary work
(1) Dialogue (2) Monologue  (3) Epllogue  (4) Prologue

134. A person who readily belisves others
(1) Credible (2] Credulous (3) Creditable {4) Creditor

138. Likely to break apart easily

(1) Breakable  {2) Thin (3) Brittle {4) -Harsh
Directions : (Question No. 136~140) Choose from the four alternatives the correct
~  one to fill in the blank.
136, As a general rule, politicians do not centre stage.
(1) forward {2) forbid (3) forgive (4) forsake
137. His party is solely to be blamed for the political in the country.

(1} revival " (2) stalemate (3} advocacy - (4) dcvah_mtiun

138. . You've never me about your experiences in Scotland.

(1) described {2} explained (3) told (4)  said

139. We cannot go on strike every year. Now that we have gone on strike we must
——— this issue. :

(1) clinch (2) cross 3) canvass  (4) culminate



140.
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I.likctntalktu}ﬁm.ﬂcis to reason.

(1) conducive (2) amenable (3) maccessible (4) congenial

Directions : (Question No. 141-148) In the following sentences, some parts have

141,

142.

been jumbled up in each sentence. You are required to rearrange these
parts which are labelled P, 'Q’, 'R’ and ‘8’. Choose the proper sequence
to make the sentence correct.

If you need help

P. promptly and politely
Q. ask for attendants

- R. to help our customers

8. who have instructions.
(1) SQPR 2) QPSR (3 QSRP 4 SQRP

The doctor's offer

P. not only saved Julie

Q. but enabled her to blossom inte a happy woman

R. from the jaws of death

B, wibmarriage:

(Ll PSQR 2 PQRS (3 SPQR (4 SPRQ

41 P.T.0.}
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1“.

144,

148,

(326}

Whenever you feel

P. care of this mageazine
'Q. just write to me

R.o ill at case

S. and ] will give a solution in the next iasue.

() QRSP 2 PRQS M RQPS

Madhuram was a Saint

P. who lived in thia Ashram

Q. to the Himalayas for Haridarshan

R. who was worshipped by those

8, till he went away.

(1) RPS Q [Z]QRSP_F 3) PQRS

There was

P. needed for its everyday life

Q. a time when each family

R. for itaelf most of the things it

(1} QRSP 2 RQPS {3) RS_PQ‘

42

4) SQPR

4 SRQP

(4 Q8RP
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Disestions : [Question No. 146-180) The given sentence is divided into three parts
numbered {1), (2} and {3). One of these parts may contain an error.
Select the erroneous part. If you think there is no error in any part of the
sentence, select the option number (4} which indicates No error’. '

148. It was not clear / from the manual of instructions /
o (2) |

whether it should be signed or not. No error.
(3 | (4)

147. Ihawhuenu-nwﬂingbylmalﬁimjninwhutaﬁera_lyean_f
(1) | @

but had never experienced such a horrible situation as this. No error.
(3) | (4)

148. We discussed the matter in full dstails / with my friend's uncle /
L) (2)

who is an University Profeasor. No error.

(3 )

(396) : s P10
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149. Ramesh did not like loaving his old parets in the house /.
| o e
bﬁt he had no alternative / as he has to go out to work. No error.
@) | | @ ()

180. Cur neighbours had repeated / the same illogical sequence of activities /
(1) ' (2
if we had hnughtﬂxcfammmﬁnoﬂcc. No error.
(3) : (4)

LE B

44 | D/5(326—4300
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